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“The Glass Frog” Research Note‐catcher

(Answers, for Teacher Reference)

RI.3.3, W.3.2, W.3.4, W.4.5, W.3.7, W.3.8

Research Question: Why is the glass frog so hard to see?

Focus Statement: The glass frog’s transparent body helps it to survive.

Sources: Everything You Need to Know about Frogs and Other Slippery Creatures pages 32–33
	Definitions

	· Transparent means see-through or clear.

	Facts

	· The glass frog’s body is see-through.

· Being see-through means the glass frog can easily hide from predators.

	Details

	· The frog blends in perfectly with its surroundings.

· It looks like whatever it is sitting on.

· It is more transparent from beneath.

· Observers can see its heart beating.


Irregular Verbs Handout

L.3.1d, L.3.1e

(Answers, for Teacher Reference)

Irregular: The verb be

The verb be is irregular because it follows a different pattern for the past, present, and future tenses. The forms do not look like the base form.

	Past Tense
	Present Tense
	Future Tense

	I was
You were
She/he/it was
We were
You were
They were
	I am
You are
She/he/it is
We are
You are
They are
	I will be
You will be
She/he/it will be
We will be
You will be
They will be


Irregular: The verb have

The verb have is irregular because it follows a different pattern for the past, present, and future tenses. The forms do not look like the base form.

	Past Tense
	Present Tense
	Future Tense

	I had
You had
She/he/it had
We had
You had
They had
	I have

You have
She/he/it has
We have
You have
They have
	I will have
You will have
She/he/it will have
We will have
You will have
They will have


Irregular Verbs Handout
L.3.1d, L.3.1e

Name: ____________________________________ Date: ________________
Irregular: The verb be

The verb be is irregular because it follows a different pattern for the past, present, and future tenses. The forms do not look like the base form.

	Past Tense
	Present Tense
	Future Tense

	I

You

She/he/it

We

You

They
	I

You

She/he/it

We

You

They
	I

You

She/he/it

We

You

They


Irregular: The verb have

The verb have is irregular because it follows a different pattern for the past, present, and future tenses. The forms do not look like the base form.

	Past Tense
	Present Tense
	Future Tense

	I

You

She/he/it

We

You

They
	I

You

She/he/it

We

You

They
	I

You

She/he/it

We

You

They


Irregular Verbs Practice

(Answers, for Teacher Reference)

L.3.1d, L.3.1e

Directions: For each sentence, underline the correct form of the verb. Then circle whether it is the past, present, or future form of the verb.
1. The frog ___________ hiding in the water.

A. am

B. is

C. Past Present Future

2. Next month, the female frog _____________ laying her eggs under the leaves.

A. will be

B. are

C. Past Present Future
3. The female frog _____________ big green eyes.

A. have

B. has

C. Past Present Future

4. The glass frog _______________ tiny toes.

A. have

B. has

C. Past Present Future

Irregular Verbs Practice

L.3.1d, L.3.1e

Name: ____________________________________ Date: ________________
Directions: For each sentence, underline the correct form of the verb. Then circle whether it is the past, present, or future form of the verb.
5. The frog ___________ hiding in the water.

A. am

B. is
C. Past Present Future

6. Next month, the female frog _____________ laying her eggs under the leaves.

A. will be
B. are

C. Past Present Future

7. The female frog _____________ big green eyes.

A. have

B. has
C. Past Present Future

8. The glass frog _______________ tiny toes.

A. have

B. has
C. Past Present Future

“Why Is the Glass Frog So Hard to See?” Draft

(Example, for Teacher Reference)

The frog is called the glass frog. The frog’s body is transparent, which means you can see through it like glass. The glass frog’s transparent body helps it to survive. Because it is see-through, the frog can blend in perfectly with its surroundings. If it sits on a green leaf, it looks green just like the leaf! This helps the frog hide from predators.

Exit Ticket: Informational Writing

(Answers, for Teacher Reference)

W.3.2d

Directions: Answer the questions below.

9. A student has written an informational report about the glass frog for class. Read this paragraph from the report and answer the question that follows.
The glass frog is well-adapted to live in the rain forest. It has a see-through body, which helps it to blend in with the tree leaves and branches it lives on high up in the canopy of the rain forest. It lays its eggs on leaves that hang over running water so that when the tadpoles hatch, they can drop right into the water. The tadpoles are well-adapted to live in the rain forest streams because they have strong tails and are good swimmers, which helps them survive in the fast-moving water.

The student needs to fix the paragraph by adding a conclusion sentence that reminds the reader of the main idea of the piece. Which sentence best ends this paragraph?
A.
Glass frogs are amphibians, which means they live partly in water and partly on land.

B.
Glass frogs live in the rain forests in Central and South America.

C.
Glass frogs have unique characteristics that help them to survive in the rain forest.
Exit Ticket: Informational Writing

W.3.2d
Name: ____________________________________ Date: ________________
Directions: Answer the questions below.

10. A student has written an informational report about the glass frog for class. Read this paragraph from the report and answer the question that follows.
The glass frog is well-adapted to live in the rain forest. It has a see-through body, which helps it to blend in with the tree leaves and branches it lives on high up in the canopy of the rain forest. It lays its eggs on leaves that hang over running water so that when the tadpoles hatch, they can drop right into the water. The tadpoles are well-adapted to live in the rain forest streams because they have strong tails and are good swimmers, which helps them survive in the fast-moving water.
The student needs to fix the paragraph by adding a conclusion sentence that reminds the reader of the main idea of the piece. Which sentence best ends this paragraph?
A.
Glass frogs are amphibians, which means they live partly in water and partly on land.
B.
Glass frogs live in the rain forests in Central and South America.
C.
Glass frogs have unique characteristics that help them to survive in the rain forest.
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MODULE LESSONS


Grade 3: Module 2: Unit 2: Lesson 6


Writing Informational Texts: Why is the Glass Frog So Hard to See?
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